
7KXUVGD\��6HSWHPEHU����������DP�
�����������*UHHQ�7UDLO�	�16%$�
�����������-U�7UDLO�	�16%$�
�����������1RYLFH�$PDWHXU�7UDLO�	�16%$�
�����������$PDWHXU�7UDLO�	�16%$�
�����������6HOHFW�7UDLO�	�16%$�
���������������6PDOO�)U\�7UDLO��
����������/��$PDWHXU�:�7�7UDLO�	�16%$��
����������/��<RXWK�:�7�7UDLO�	�16%$��
�����������1RYLFH�<RXWK�7UDLO�	�16%$�

�����������<RXWK�7UDLO�	�16%$�
�����������6U�7UDLO�	�16%$�
����������*UHHQ�:HVWHUQ�5LGLQJ�	�16%$�
�����������-U�:HVWHUQ�5LGLQJ�	�16%$�
����������1RYLFH�$P��:HVWHUQ�5LGLQJ�	�16%$�
����������$PDWHXU�:HVWHUQ�5LGLQJ�	�16%$�
����������1RY��<RXWK�:HVWHUQ�5LGLQJ�	�16%$�
����������<RXWK�:HVWHUQ�5LGLQJ�	�16%$�
����������6U�:HVWHUQ�5LGLQJ�	�16%$�

7KXUVGD\��6HSWHPEHU����������SP�±�7RP�%DVV�$UHQD�
�����������3URJUHVVLYH�:RUNLQJ�+XQWHU�	�16%$�
�����������*UHHQ�:RUNLQJ�+XQWHU�	�16%$�
�����������:RUNLQJ�+XQWHU�$OO�$JHV�	�16%$�
�����������1RYLFH�$P��:RUNLQJ�+XQWHU�	�16%$�
�����������1RY��$P��(TXLW��2YHU�)HQFHV�	�16%$�
�����������$PDWHXU�:RUNLQJ�+XQWHU�	�16%$�
�����������$P��(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
�����������6HOHFW�:RUNLQJ�+XQWHU�	�16%$��
�����������6HOHFW�(TXLW��2YHU�)HQFHV�	�16%$�
�����������1RYLFH�<$�:RUNLQJ�+XQWHU�	�16%$�
�����������1RY��<$�(TXLW�2YHU�)HQFHV�	�16%$��
�����������<RXWK�:RUNLQJ�+XQWHU�	�16%$�
�����������<$�(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
�����������$PDWHXU�-XPSLQJ�	�16%$�
�����������<RXWK�-XPSLQJ�	�16%$�

�����������-XPSLQJ�	�16%$�
�����������+XQWHU�+DFN�	�16%$�
�����������1RYLFH�$P��+XQWHU�+DFN�	�16%$�
�����������1RYLFH�<RXWK�+XQWHU�+DFN�	�16%$�
�����������$PDWHXU�+XQWHU�+DFN�	�16%$�
�����������6HOHFW�+XQWHU�+DFN�	�16%$�
�����������<RXWK�+XQWHU�+DFN�	�16%$�
$UHQD�/RFDWLRQ�6XEMHFW�WR�&KDQJH�
�����������$P��5DQFK�5LGLQJ�	�16%$�
����������<RXWK�5DQFK�5LGLQJ�	�16%$�
������������5DQFK�5LGLQJ�	�16%$�
����������$PDWHXU�5HLQLQJ�
����������<RXWK�5HLQLQJ�
����������5HLQLQJ�

$PHULFDQ�5R\DO�&HQWHU�±�+DOH�$UHQD��
�����$PHULFDQ�5R\DO�&W���.DQVDV�&LW\��02�������

ZZZ�$PHULFDQ5R\DO�FRP
$4+$��16%$�	�0R4+$�$SSURYHG�

-XGJHV���



)ULGD\��6HSWHPEHU����������DP�
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����������/��$PDWHXU�:�7�(TXLWDWLRQ�	�16%$��
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�����������1RYLFH�<RXWK�(TXLWDWLRQ�	�16%$�
�����������<RXWK�+XQW�6HDW�(TXLWDWLRQ�	�16%$�
������������\HDU�ROG�6QDIIOH�%LW�3OHDVXUH�	�16%$�
�������������6PDOO�)U\�3OHDVXUH��

�������������6PDOO�)U\�+RUVHPDQVKLS��
����������/��$PDWHXU�:�7�3OHDVXUH�	�16%$���
����������/��$PDWHXU�:�7�+RUVHPDQVKLS�	�16%$��
����������/��<RXWK�:�7�3OHDVXUH�	�16%$���
����������/��<RXWK�:�7�+RUVHPDQVKLS�	�16%$��
����������-U�:HVWHUQ�3OHDVXUH�	�16%$�
����������1RYLFH�$P��:HVWHUQ�3OHDVXUH�	�16%$�
����������$PDWHXU�:HVWHUQ�3OHDVXUH�	�16%$�
����������6HOHFW�:HVWHUQ�3OHDVXUH�	�16%$�
����������*UHHQ�:HVWHUQ�3OHDVXUH�	�16%$�
���������1RYLFH�<$�:HVWHUQ�3OHDVXUH�	�16%$�
�������������	�XQGHU�:HVWHUQ�3OHDVXUH�	�16%$�
����������������:HVWHUQ�3OHDVXUH�	�16%$�
����������6U�:HVWHUQ�3OHDVXUH�	�16%$�
�����������1RYLFH�$P��+RUVHPDQVKLS�	�16%$�
����������$PDWHXU�+RUVHPDQVKLS�	�16%$�
����������6HOHFW�+RUVHPDQVKLS�	�16%$�
����������1RYLFH�<RXWK�+RUVHPDQVKLS�	�16%$�
�������������	�XQGHU�+RUVHPDQVKLS�	�16%$�
����������������+RUVHPDQVKLS�	�16%$�

6DWXUGD\��6HSWHPEHU������MXGJHV��������DP��
-XGJHV�$�%�&�
�����������1RYLFH�$PDWHXU�6KRZPDQVKLS�	�16%$�
������������$PDWHXU�6KRZPDQVKLS�	�16%$�
������������6HOHFW�6KRZPDQVKLS�	�16%$�
��������������6PDOO�)U\�6KRZPDQVKLS��
������������1RYLFH�<RXWK�6KRZPDQVKLS�	�16%$�
������������	�XQGHU�6KRZPDQVKLS�	�16%$�
���������������6KRZPDQVKLS�	�16%$�

-XGJHV�'�(�)�
�����������1RYLFH�$PDWHXU�6KRZPDQVKLS�	�16%$�
������������$PDWHXU�6KRZPDQVKLS�	�16%$�
������������6HOHFW�6KRZPDQVKLS�	�16%$�
��������������6PDOO�)U\�6KRZPDQVKLS��
������������1RYLFH�<RXWK�6KRZPDQVKLS�	�16%$�
������������	�XQGHU�6KRZPDQVKLS�	�16%$�
���������������6KRZPDQVKLS�	�16%$

)ROORZLQJ�VKRZPDQVKLS�����MXGJHV��

6DWXUGD\�RQO\�$)7(5�+$/7(5�
6WLFN�+RUVH�±���	�XQGHU�
/HDG�/LQH�±���	�XQGHU��
)RU�%27+�6WLFN�+RUVH�	�/HDGOLQH�±�HQWHU�DW�WKH�JDWH����)5((���



)ROORZLQJ�+DOWHU�±�+DOH�$UHQD�
�����������*UHHQ�7UDLO�	�16%$�

��������DGGHG�WR�*UHHQ�7UDLO����������HQWU\�IHH�������
�QG�JR�RQO\���-DFNSRW�RSWLRQ�±�3DLG��������������

�����������-U�7UDLO�	�16%$�
�����������1RYLFH�$PDWHXU�7UDLO�	�16%$�
�����������$PDWHXU�7UDLO�	�16%$�
�����������6HOHFW�7UDLO�	�16%$�
���������������6PDOO�)U\�7UDLO��
����������/��$PDWHXU�:�7�7UDLO�	�16%$��
����������/��<RXWK�:�7�7UDLO�	�16%$��

�����������1RYLFH�<RXWK�7UDLO�	�16%$�
�����������<RXWK�7UDLO�	�16%$�
�����������6U�7UDLO�	�16%$�
����������*UHHQ�:HVWHUQ�5LGLQJ�	�16%$�
�����������-U�:HVWHUQ�5LGLQJ�	�16%$�
����������1RYLFH�$P��:HVWHUQ�5LGLQJ�	�16%$�
����������$PDWHXU�:HVWHUQ�5LGLQJ�	�16%$�
����������1RY��<RXWK�:HVWHUQ�5LGLQJ�	�16%$�
����������<RXWK�:HVWHUQ�5LGLQJ�	�16%$�
����������6U�:HVWHUQ�5LGLQJ�	�16%$�

)ROORZLQJ�+$/7(5�±�$SSUR[���SP�±�7RP�%DVV�$UHQD�
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�����������$PDWHXU�:RUNLQJ�+XQWHU�	�16%$�
�����������$P��(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
�����������6HOHFW�:RUNLQJ�+XQWHU�	�16%$��
�����������6HOHFW�(TXLW��2YHU�)HQFHV�	�16%$�
�����������1RYLFH�<$�:RUNLQJ�+XQWHU�	�16%$�
�����������1RY��<$�(TXLW�2YHU�)HQFHV�	�16%$��
�����������<RXWK�:RUNLQJ�+XQWHU�	�16%$�
�����������<$�(TXLWDWLRQ�2YHU�)HQFHV�	�16%$�
�����������$PDWHXU�-XPSLQJ�	�16%$�
�����������<RXWK�-XPSLQJ�	�16%$�

�����������-XPSLQJ�	�16%$�
�����������+XQWHU�+DFN�	�16%$�
�����������1RYLFH�$P��+XQWHU�+DFN�	�16%$�
�����������1RYLFH�<RXWK�+XQWHU�+DFN�	�16%$�
�����������$PDWHXU�+XQWHU�+DFN�	�16%$�
�����������6HOHFW�+XQWHU�+DFN�	�16%$�
�����������<RXWK�+XQWHU�+DFN�	�16%$�
$UHQD�/RFDWLRQ�6XEMHFW�WR�&KDQJH�
�����������$P��5DQFK�5LGLQJ�	�16%$�
����������<RXWK�5DQFK�5LGLQJ�	�16%$�
������������5DQFK�5LGLQJ�	�16%$�
����������$PDWHXU�5HLQLQJ�
����������<RXWK�5HLQLQJ�
����������5HLQLQJ

6XQGD\��6HSWHPEHU�����������DP�
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�����������1RYLFH�<RXWK�(TXLWDWLRQ�	�16%$�
�����������<RXWK�+XQW�6HDW�(TXLWDWLRQ�	�16%$�
������������\HDU�ROG�6QDIIOH�%LW�3OHDVXUH�	�16%$�
�������������6PDOO�)U\�3OHDVXUH��

�������������6PDOO�)U\�+RUVHPDQVKLS��
����������/��$PDWHXU�:�7�3OHDVXUH�	�16%$���
����������/��$PDWHXU�:�7�+RUVHPDQVKLS�	�16%$��
����������/��<RXWK�:�7�3OHDVXUH�	�16%$���
����������/��<RXWK�:�7�+RUVHPDQVKLS�	�16%$��
����������-U�:HVWHUQ�3OHDVXUH�	�16%$�
����������1RYLFH�$P��:HVWHUQ�3OHDVXUH�	�16%$�
����������$PDWHXU�:HVWHUQ�3OHDVXUH�	�16%$�
����������6HOHFW�:HVWHUQ�3OHDVXUH�	�16%$�
����������*UHHQ�:HVWHUQ�3OHDVXUH�	�16%$�
���������1RYLFH�<$�:HVWHUQ�3OHDVXUH�	�16%$�
�������������	�XQGHU�:HVWHUQ�3OHDVXUH�	�16%$�
����������������:HVWHUQ�3OHDVXUH�	�16%$�
����������6U�:HVWHUQ�3OHDVXUH�	�16%$�
�����������1RYLFH�$P��+RUVHPDQVKLS�	�16%$�
����������$PDWHXU�+RUVHPDQVKLS�	�16%$�
����������6HOHFW�+RUVHPDQVKLS�	�16%$�
����������1RYLFH�<RXWK�+RUVHPDQVKLS�	�16%$�
�������������	�XQGHU�+RUVHPDQVKLS�	�16%$�
����������������+RUVHPDQVKLS�	�16%$�

)HHV���
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:DON�WURW�&ODVVHV������MXGJH�FODVV�±�7KHVH�DUH�$4+$�DSSURYHG�FODVVHV��3DSHUV�	�FDUGV�UHTXLUHG��127(��3HU�UXOHV���,I�D�KRUVH�ULGHU�
FRPELQDWLRQ�ZDV�HQWHUHG�LQWR�D�/HYHO���ZDON�WURW�FODVV��WKDW�KRUVH�ULGHU�FRPELQDWLRQ�FDQQRW�VKRZ�LQ�WKH�FRUUHVSRQGLQJ�ORSLQJ�FDQWHULQJ�
FODVV�DW�WKDW�VKRZ��+RZHYHU��WKDW�FRPELQDWLRQ�FDQ�VZLWFK�EDFN�DQG�IRUWK�EHWZHHQ�WKH�GLIIHUHQW�VKRZV�
2IILFH�&KDUJH��� � ���KRUVH�
$4+$�)HH��� � ���KRUVH�MXGJH�
16%$��� � � ����FODVV�±�VLQJOH�MXGJHG�SHU�6�&�
6WDOOV��� � � �����EHIRUH�$XJXVW����

�����DIWHU�$XJXVW�����
7UDLO�:DUP�8S��� � �������SHU�6�&��
+XQWHU�:DUP�8SV��� �������SHU�6�&��
$OO�KRUVHV�PXVW�KDYH�VWDOOV��1R�MXPS�RXWV�DUH�DOORZHG���6WDOO�DVVLJQPHQWV�DUH�PDGH�
E\�SRVWPDUNHG�HQYHORSH��1R�RXWVLGH�VKDYLQJV���$OO�VKDYLQJV�PXVW�EH�SXUFKDVHG�IURP�WKH�IDFLOLW\��$OO�WKRVH�ZLVKLQJ�WR�EH�VWDOOHG�
WRJHWKHU�0867�VHQG�WKHLU�VWDOO�UHVHUYDWLRQV�WRJHWKHU���1R�UHIXQGV�RQ�VWDOOV��6WDOO�FKHFNV�SD\DEOH�WR�$PHULFDQ�5R\DO��
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)RU�VWDOO�RU�VKRZ�LQIRUPDWLRQ��
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0DNH�&KHFNV�3D\DEOH�WR�7KH�$PHULFDQ�5R\DO��
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)ULGD\�±�7KH�5R\DO�)HDVW�
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&LUFXLW�DZDUGV�LQ�DOO�FODVVHV���0XVW�VKRZ�WR�DOO�MXGJHV��&KDPSLRQ�	�5HVHUYH�&KDPSLRQ�+LJK�3RLQWV���
6PDOO�)U\��/��:DON�WURW�±�<RXWK�	�$PDWHXU��1RYLFH�<RXWK��1RYLFH�$PDWHXU�����	�XQGHU���������$PDWHXU��6HOHFW��	�2SHQ��0XVW�VKRZ�KDOWHU�LQ�\RXU�
UHVSHFWLYH�KDOWHU�FODVV���6PDOO�)U\�H[FOXGHG�	�:DON�WURWV����7KH�1RYLFH�<RXWK�����	�XQGHU�	�������ZLOO�UHFHLYH�$FDGHPLF�6FKRODUVKLSV���


